

ABBOTT SUPERANNUATION FUND 222 RAGLAN STREET MOSMAN NSW 2088

## Vanguard Quarterly Transaction Statement

1 January 2021 to 31 March 2021

Investor name:

ABBOTT SUPERANNUATION FUND

Account number:

121996 Supplied

Tax file number status:

### Your investment at a glance

Opening investment valuation as at 01-Jan-2021	Units	Sell price	Value
Vanguard Index Diversified Bond Fund	90,203.44	\$1.1745	\$105,943.94
Vanguard High Yield Australian Shares Fund	182,620.17	\$1.1895	\$217,226.69
Vanguard Index Australian Shares Fund	307,236.63	\$2.0918	\$642,677.58
Vanguard Index Hedged International Shares Fund	105,664.99	\$1.0054	\$106,235.58
Vanguard Index International Shares Fund	172,222.98	\$1.6933	\$291,625.17
Total opening investment valuation			\$1,363,708.97
Closing investment valuation as at 31-Mar-2021	Units	Sell price	Value
Vanguard Index Diversified Bond Fund	90,203.44	\$1.1183	\$100,874.51
Vanguard High Yield Australian Shares Fund	182,620.17	\$1.2704	\$232,000.66
Vanguard Index Australian Shares Fund	307,236.63	\$2.1480	\$659,944.28
Vanguard Index Hedged International Shares Fund	105,664.99	\$0.9952	\$105,157.80
Vanguard Index International Shares Fund	172,222.98	\$1.7768	\$306,005.79
Total closing investment valuation			\$1,403,983.04





### Your investment transaction details

### Vanguard Index Diversified Bond Fund

variguara iri	dox biversined boi	ia i dila			
Effective date	Transaction description	Amount	Unit price	Units	Unit balance
01-Jan-2021	Opening unitholding				90,203.44
12-Jan-2021	Cash Distribution	\$1,907.05	\$0.0000	0.00	90,203.44
31-Mar-2021	Closing unitholding				90,203.44
Your investmen	t return for period 01-Jan-	2021 to 31-Mar-2021			Amount
Your investme	ent return¹				\$-3,162.38
Fees and cost s	summary for period 01-Jan	-2021 to 31-Mar-2021			Amount
Directly charge	d management costs				Nil
Indirect costs o	f your investment <sup>2</sup>				\$73.28
Total fees and	costs you paid <sup>a</sup>				\$73.28
Vanguard H	igh Yield Australiar	n Shares Fund			
Effective date	Transaction description	Amount	Unit price	Units	Unit balance

Effective date	Transaction description	Amount	Unit price	Units	Unit balance
01-Jan-2021	Opening unitholding				182,620.17
12-Jan-2021	Cash Distribution	\$1,559.57	\$0.0000	0.00	182,620.17
31-Mar-2021	Closing unitholding				182,620.17
Your investmer	nt return for period 01-Jan-2021 to	31-Mar-2021			Amount
Your investme	ent return <sup>†</sup> Maria e e e e e e e e e e e e e e e e e e e	enter den state til s	the figure of the section of the sec		\$16,333.54
Fees and cost s	summary for period 01-Jan-2021 t	to 31-Mar-2021			Amount
Directly charge	ed management costs				Nil
Indirect costs of	of your investment <sup>2</sup>				\$196.37
Total fees and	l costs you paid³				\$196.37



## Vanguard Index Australian Shares Fund

Effective date	Transaction description	Amount	Unit price	Units	Unit balance
01-Jan-2021	Opening unitholding				307,236.63
12-Jan-2021	Cash Distribution	\$9,048.11	\$0.0000	0.00	307,236.63
31-Mar-2021	Closing unitholding				307,236.63
Your investment	t return for period 01-Jan-2021 to	31-Mar-2021			Amount
Your investme	nt return¹				\$26,314.81
Fees and cost s	ummary for period 01-Jan-2021 t	o 31-Mar-2021			Amount
Directly charged	d management costs				Nil
Indirect costs of	f your investment <sup>2</sup>				\$257.54
Total fees and	costs you paid				\$257.54
Vanguard In	dex Hedged Internation  Transaction description	nal Shares Fun Amount	d Unit price	Units	Unit balance
Vanguard In	dex Hedged Internation	al Shares Fun	d		
Effective date	Transaction description			Units	
Effective date	Transaction description  Opening unitholding	Amount	Unit price		105,664.99
Effective date 01-Jan-2021 12-Jan-2021	Transaction description  Opening unitholding  Cash Distribution			Units	<b>105,664.99</b> 105,664.99
Effective date	Transaction description  Opening unitholding	Amount	Unit price		105,664.99
Effective date 01-Jan-2021 12-Jan-2021 31-Mar-2021	Transaction description  Opening unitholding  Cash Distribution	Amount \$7,199.23	Unit price		<b>105,664.99</b> 105,664.99
Effective date 01-Jan-2021 12-Jan-2021 31-Mar-2021	Transaction description  Opening unitholding  Cash Distribution  Closing unitholding  t return for period 01-Jan-2021 to	Amount \$7,199.23	Unit price		105,664.99 105,664.99 105,664.99
Effective date 01-Jan-2021 12-Jan-2021 31-Mar-2021 Your investmen	Transaction description  Opening unitholding  Cash Distribution  Closing unitholding  t return for period 01-Jan-2021 to	\$7,199.23 0 31-Mar-2021	Unit price		105,664.99 105,664.99 105,664.99 Amount
Effective date 01-Jan-2021 12-Jan-2021 31-Mar-2021 Your investmen Your investmen Fees and cost s	Transaction description  Opening unitholding  Cash Distribution  Closing unitholding  t return for period 01-Jan-2021 to	\$7,199.23 0 31-Mar-2021	Unit price		105,664.99 105,664.99 105,664.99 Amount \$6,121.45
Effective date 01-Jan-2021 12-Jan-2021 31-Mar-2021 Your investmen Your investmen Fees and cost s Directly charges	Transaction description  Opening unitholding  Cash Distribution  Closing unitholding  t return for period 01-Jan-2021 to the return  cummary for period 01-Jan-2021 to the return	\$7,199.23 0 31-Mar-2021	Unit price		105,664.99 105,664.99 105,664.99 Amount \$6,121.45
Effective date 01-Jan-2021 12-Jan-2021 31-Mar-2021 Your investmen Your investmen Fees and cost s Directly charged Indirect costs of	Transaction description  Opening unitholding  Cash Distribution  Closing unitholding  t return for period 01-Jan-2021 to ent return  ummary for period 01-Jan-2021 to ent return	\$7,199.23 0 31-Mar-2021	Unit price		105,664.99 105,664.99 105,664.99 Amount \$6,121.45 Amount
Effective date 01-Jan-2021 12-Jan-2021 31-Mar-2021 Your investmen Your investmen Fees and cost s Directly charged Indirect costs of	Transaction description  Opening unitholding  Cash Distribution  Closing unitholding  t return for period 01-Jan-2021 to  ent return  dummary for period 01-Jan-2021 to  d management costs  f your investment <sup>2</sup>	\$7,199.23 o 31-Mar-2021 to 31-Mar-2021	Unit price		105,664.99 105,664.99 105,664.99 Amount \$6,121.45 Amount Nil \$53.06
Effective date 01-Jan-2021 12-Jan-2021 31-Mar-2021 Your investmen Your investmen Fees and cost s Directly charged Indirect costs of	Transaction description  Opening unitholding  Cash Distribution  Closing unitholding  t return for period 01-Jan-2021 to ent return¹  ummary for period 01-Jan-2021 to d management costs  f your investment²  costs you paid³	\$7,199.23 o 31-Mar-2021 to 31-Mar-2021	Unit price		105,664.99 105,664.99 105,664.99 Amount \$6,121.45 Amount Nil \$53.06



Effective date	Transaction description	Amount	Unit price	Units	Unit balance
12-Jan-2021	Cash Distribution	\$3,900.05	\$0.0000	0.00	172,222.98
31-Mar-2021	Closing unitholding				172,222.98
Your investmen	nt return for period 01-Jan-202	21 to 31-Mar-2021			Amount
Your investme	ent return'				\$18,280.67
Fees and cost s	summary for period 01-Jan-20	021 to 31-Mar-2021			Amount
Directly charge	d management costs				Nil
Indirect costs o	of your investment <sup>2</sup>				\$131.22
Total fees and	l costs you paid³				\$131.22



### Your fees and investment returns explained

#### 1. Your investment return

This represents market movement and any distributions you have received for this period.

### 2. Indirect costs of your investment

This approximate amount has been deducted from your investment and includes amounts that have reduced the return on your investment but are not charged directly to you as a fee.

### 3. Total fees and costs you paid

This approximate amount includes all the fees and costs which affected your investment during the period. These are fees we deducted from the fund.

Additional explanation of fees and costs

#### Tav

In calculating the taxable income of our funds, available tax deductions are taken into account. This means that the after-tax costs to you of investing in our funds may be less than the amounts shown above.



# Using BPAY® to expand your investment portfolio

You can make progress towards your investment goals by adding additional funds into your existing Vanguard managed fund anytime with the convenience and flexibility of BPAY.

Investment product	BPAY details		
Vanguard Index Diversified Bond Fund	Biller code: 53009 Ref: 0208 00121996		
Vanguard High Yield Australian Shares Fund	Biller code: 53009 Ref: 0211 00121996		
Vanguard Index Australian Shares Fund	Biller code: 53009 Ref: 0201 00121996		
Vanguard Index Hedged International Shares Fund	Biller code: 53009 Ref: 0209 00121996		
Vanguard Index International Shares Fund	Biller code: 53009 Ref: 0202 00121996		

Vanguard has a dispute resolution process for resolving complaints. If you have a complaint please contact us on 1300 655 101 or send us a secure message via Vanguard Online and we will respond as soon as possible (and always within 45 days). If an issue has not been resolved to your satisfaction, you can lodge a complaint with the Australian Financial Complaints Authority.

Website:

www.afca.org.au info@afca.org.au

Email: Telephone:

1800 931 678 (free call)

In writing to:

Australian Financial Complaints Authority, GPO Box 3, Melbourne VIC 3001.

Contact us



Log in to Vanguard Online vanguard.com.au



Call us on 1300 655 101

Monday to Friday, 8:00am to 6:00pm (AET)

 $\ensuremath{\mathsf{BPAY}}^{\circledR}$  registered to BPAY Pty Ltd ACN 079 137 518.